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THE ARGUMENT BY THE WHITE SCHOLARS OF THE WORLD WOULD » :ITS THE ONLY SYSTEM WE HAVE AND 
IT DOES WORKI: _ T R U E I BUT YOU HAVE WARS, IMPLEMENTS OF WAR, POLICE FORCES, AND . MIND 
CONTROL WHICH SEPARATES YOU FROM THE REST OF THE ANIMAL AND PLANT KINGDOMS. WHICH SHOWS 
THE CALENDAR METHOD YOU ARE USING IS NOT FOR YOU

(l)YOU OR YOUR ANCESTORS HAD THE CORRECT CALENDAR, BUT A SELECT FEW KNEW IF THEY 
DESTROYED IT, YOU WOULD BE SUBJECT TO THEM FOR A GOD OR SUPREME BEING OR GOD(S)f AND (2)YOU 
WOULD BE OUT OF TIME SYNCHRONIZATION WITH THE CREATOR, THE EARTH, THE UNIVERSE, AND 
FELLOW HUMAN BEINGS.

WE CAN'T OMIÍ.­'OTHER ANIMALS AND PLANTS. YOU CAN_'T OVERCOME THE ENVIRONMENT PROBLEMS, BY 
GOING BY A CALENDAR THAT WAS CREATED TO DESTROY THE ENVIRONMENT. THAT IS A SIMPLE 
SCIENTIFIC

FACT THAT EVERYONE KNOWS IS BASICALLY TRUE.

THE ORIGINAL CALENDAR HAD ON ITS FACE, YEAR ONE, DAY ONE TO THE PRESENT.

THE PRESENT GREGORIAN CALENDAR CANNOT CORRECTLY GO BACK TO YEAR ONE OR ZERO, 
BECAUSE IT HAD TWO ZEROS, THAT 99.99% OF THE WORLD HAVE NO KNOWLEDGE TO HOW IT WORKS. IT 
CAN'T EVEN GO BACK FURTHER THAN OCTOBER 15821­\D. WHICH WAS WHEN IT STARTED FOR THE ELTTE, 
AND SEPTEMBER l752AD. FOR THE COMMON PEOPLE OF THE WORLD.

YEAR ONE WAS 6295, WHEN IT WAS CHANGED TO 1582. . THE GREGORIAN CAME FROM THE JULIAN 
CALENDAR, YET TODAY, THERE IS A

DIFFERENCE OF 14 DAYS. WHY?

TO BEGIN, WE MUST LOOK TO THE TIME WHEN A WHITE CIVILIZED SCHOLAR DECIDED TO CREATE A 
CALENDAR USING AN ANCIENT ONE FROM WHICH TO USE DATA FOR THE BEGINNING FOR ANY NEW ONE.

IT IS KNOWN BY ELITE WHITE SCHOLARS, THAT THE JULIAN WAS CREATED TO ELIMINATE THE USE OF 
AN ANCIENT TRIBAL CALENDAR CALLED

T H E K A L I Y U G .

EVERY WHITE SCIENCE CARRYS THE REFERENCE THAT JUIIUS CAESAR MADE A 90 DAY CALENDAR 
ADJUSTMENT BEFORE STARTING HIS JULIAN.

THIS HISTORICAL REFERENCE DOES NOT GIVE THE DIRECTION THIS ADJUSTMENT WAS MADE BY 
EITHER SHORTENING OR LENGTHING THE YEAR.

THE BEGINNING AS DAY ONE 1S WELL REFERENCED AS 'THE IDES OF MARCH.'

THE YEAR IS DEFINITELY AN ANCIENT CALCULATION OF YEARS. 4666 3000 = A POSITIVE SERPENT IN TIME. 
1000 = ONE CREA'I‘OR'S DAY.

600 = ONE FULL FIRST­BORN CYCLE.

60 = FULL/TIME WALKERÍS EQUATION.

6 = TIME WALKER'S TWO CIRCLES GOING BACK, USING THE GREGORIAN, IT BECOMES 45BC. IDES 1B A 
FULL MOON AND BECAUSE ITS MARCH, THIS MAKES IT MARCH 15TH.

4666JULIAN OR 45BC.GREGORIAN.

WE HAVE A BEGINNING, WHICH IS NOT YEAR ONE OR DAY ONE, BUT A BEGINNING


